NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

PARTITION WALL FRAMING
CHO0O010 - LONG. PARTITION WALL CEE GIRT TO RIGID FRAME CONNECTION
CHO0020 - LONG. PARTITION COLUMN TO RAFTER CONNECTION
CHO030 - TRANS. PARTITION COLUMN TO SUPPORT CHANNEL AT MID-BAY
CHO0040 - PARTITION WALL GIRT TERM. TO COLUMN (BYPASS EXT. WALL)
CHOO050 - PARTITION WALL GIRT TERM. TO COLUMN (FLUSH/INSET EXT. WALL)
CHO060 - ALT. PARTITION WALL GIRT TERMINATION INTO COLUMN
CHO070 - PARTITION COLUMN TO FINISHED FLOOR
CHO080 - PARTITION WALL GIRT CONN. TO COLD-FORMED PARTITION COLUMN
CHO0090 - TRANS.VERSE PARTITION COLUMN TO RAFTER CONNECTION
CHO0100 - PARTITION COLUMN TO TOP CEE GIRT CONNECTION
CHO0110 - JOIST STRUT CONNECTION TO PARTITION COLUMN




NLUOCOR

BUILDINGS GROUP

PARTITION WALL FRAMING

WALL SECONDARY

CHO010 - LONGITUDINAL PARTITION WALL CEE GIRT TO RIGID FRAME CONNECTION

BAY SPACING

GIRTCLIP (2)1/2"x 2" A325
MK. PWCO1 BOLTS H0603 / NUTS H0300
(2112 x 1 114 A307 HAND TIGHTEN AND BURR THREADS
BOLTS H0500 / NUTS H0400 CEE GIRT _
(2) 112" x 1 1/4" A307
CEE GIRT j\ BOLTS H0500 / NUTS H0400 \
== z 2
7 4 = = 7.y \
e B = % e B3
o o o
=< = =<
S =) s [ oF-§— - 777 Q
MAGO1 ANGLE —/ MAGO1 ANGLE
ATTACH WITH ATTACH WITH
(2) H1020 SCREWS 34" 61/2" 61/2" 34" (2) H1020 SCREWS 34" 61/2"
WHERE REQUIRED ' ' WHERE REQUIRED '
a @ RAFTER a G RAFTER
AT INTERIOR FRAME AT END FRAME
TOP VIEW"
PARTITION WALL GIRT CONNECTION TO RAFTER
GIRT CLIP
MK. PWC01

(2) 172" x 1 1/4" A307
BOLTS H0500 / NUTS H0400

BAY SPACING

—

(2) 172" x 1 1/4" A307
BOLTS H0500 / NUTS H0400

S

1

PARTITION WALL
CEE GIRT

MAR02 ANGLE —/

FIELD CUT TO LENGTH
FASTEN WITH (2) H1020

/

\ (2) 1/2" x 2" A325

BOLTS H0603 / NUTS H0300
HAND TIGHTEN AND BURR THREADS

SCREWS WHERE REQ'D

Detailer Notes:

AT INTERIOR FRAME

SECTION VIEW

FRAMING ANGLES AROUND RAFTER

(2) 12" x 2" A325
BOLTS H0603 / NUTS H0300
HAND TIGHTEN AND BURR THREADS

VERTICAL CEE SUPPORT

IF REQ'D, ATTACH TO ENDWALL
GIRT WITH (2) H1020 FASTENERS
AT EACH GIRT

AT END FRAME

ENDWALL GIRT

|
-

ENDWALL
STEEL LINE

LONGITUDINAL PARTITION WALL CEE GIRT TO
RIGID FRAME CONNECTION

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS. C H 00 1 0

Issued : 06.14.24 (2022.015)
Issued By: CF

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 2x2


dtls/ch0010.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0020 - LONGITUDINAL PARTITION COLUMN TO RAFTER CONNECTION

SPECIAL PARTITION CLIP
MK. CLIP-__

(6) H1070 FASTENERS
RAFTER FLANGE

5"
SLOT

\ PARTITION COLUMN

(COLD-FORMED SHOWN.
HOT-ROLLED/BUILT-UP
SIMILAR.)

LONGITUDINAL PARTITION COLUMN TO
RAFTER CONNECTION

NOTE: USE (2) 1/2" X 2" A325 BOLTS H0603 / NUTS H0300
HAND TIGHTEN AND BURR THREADS. ( C H O 02 O )

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0020.dwg

NWUCOR

BUILDINGS GROUP

PARTITION WALL FRAMING

WALL SECONDARY

CHO0030 - TRANSVERSE PARTITION COLUMN TO SUPPORT CHANNEL AT MID-BAY

Detailer Notes:

PURLIN - (2) H1020 FASTENER
JOIST - (2) H1070 FASTENER
\ —

ROOF MEMBER
(PURLINS SHOWN/
JOISTS SIMILAR)
\ [ e

(6) H1020 FASTENERS

ws_op —— — |

SINGLE OR DOUBLE CEE
PARTITION COLUMN SHOWN
(HOT-ROLLED / BUILT-UP
SIMILAR)

/\/__

CONTINUOUS SHEETING
:g CHANNEL
- MK. B_CO1

PARTITION COLUMN CONNECTION TO SUPPORT CEE BETWEEN PURLINS

ROOF MEMBER
(PURLINS SHOWN/
JOISTS SIMILAR)

PURLIN -
(2) H1020 FASTENER

& CENTERLINE OF RIDGE

4"MIN. ;1"MIN.

—

JOIST - ]

(2) H1070 FASTENER

CONTINUOUS
SHEETING CHANNEL
MK. B_C01

(6) H1020 FASTENERS.

JCS__CLIP

i \

51/2

SINGLE OR DOUBLE
CEE PARTITION
COLUMN SHOWN
(HOT-ROLLED/
BUILT-UP SIMILAR)

PARTITION COLUMN CONNECTION TO SUPPORT CEE AT RIDGE

TRANSVERSE PARTITION COLUMN TO

SUPPORT CHANNEL AT MID-BAY

NOTE: USE (2) 1/2" X 2" A325 BOLTS H0603 / NUTS H0300.
HAND TIGHTEN AND BURR THREADS.

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

CHO0030

Issued
Issued By: CF

1 12.20.24 (2024.010)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x2


dtls/ch0030.dwg

NLUOCOR

BUILDINGS GROUP

PARTITION WALL FRAMING

WALL SECONDARY

CHO0040 - PARTITION WALL GIRT TERMINATION TO COLUMN (BYPASS EXTERIOR WALL)

GIRT ANGLE
MK. MARO2
ATTACH TO STIFFENER W/(3) H1070 SCREWS.
SHOP WELDED
E;L\I:HHON 3/4"% 12" SHOP WELDED
! STIFFENER
GIRT _\ | EXTERIOR
@ - ] WALL GIRT
L gt o
< | o ® |- ©
=—o— --------- —%—@—
@ |
= | ~
i o [~ COLUMN
0 | ()] ()] ©
D: L 4 J
< _—— — —— — — —— — — — — — el
>

PARTITION WALL GIRT TERMINATION TO
COLUMN (BYPASS EXTERIOR WALL)

NOTE: USE (2) 1/2" X 1 1/4" A307 BOLTS H0500 / NUTS H0400

(_ CH0040 )

Detailer Notes:

Issued : 06.14.24 (2022.015)
Issued By: CF

CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1


dtls/ch0040.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0050 - PARTITION WALL GIRT TERMINATION TO COLUMN (FLUSH/INSET EXTERIOR WALL)

| |
] |
i |
= \
==
GIRT ANGLE ma|
MK. MAR02 A
ATTACH TO STIFFENER W/(3) H1070 SCREWS. |
) \ EXTERIOR ‘
SHOP WELDED 3/4"1 12 WALL GIRT
CLIP I REQ'D WHEN ‘
- 6" OR GREATER |
PARTITION | - . |
GIRT _\ | | |
w \ : _
vy | - —— 1 ——————
o ST w |
< ll o 25 ® | |1 SHOPWELDED
e ﬁ:_@ STIFFENER
@ |
VAR |
|
b A TS
L] | e © @
D: L 4 J
= 1
= 1
Lo _ _ __ _ }
|
COLUMN
]
w |
= \
—
i~ |
Ll Ll
w n \
= =
n = |
|

PARTITION WALL GIRT TERMINATION TO
COLUMN (FLUSH/INSET EXTERIOR WALL)

NOTE: USE (2) 1/2" X 1 1/4" A307 BOLTS H0500 / NUTS H0400 ( C H OO 50 )

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0050.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0060 - ALT. PARTITION WALL GIRT TERMINATION INTO COLUMN

SHOP WELDED

CLIP Il| n
PARTITION —\ _T*3/4 ; #1’2

GIRT

w
L |
o a
< |
> |
—0—-—-—-—-—-—;—@—
o |
~ |
|
—0—-—-—-—-—-—?—@—
[(7p] I
(NN |
E L
<C
>

ALT. PARTITION WALL GIRT TERMINATION
INTO COLUMN

NOTE: USE (2) 1/2" X 1 1/4" A307 BOLTS H0500 / NUTS H0400 ( C H 0060 )

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0060.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0070 - PARTITION COLUMN TO FINISHED FLOOR

114" SINGLE OR
f DOUBLE CEE
COLUMN

EQ

BOLT CHART
COLUMN TYPE | BOLT NUT
SINGLE CEE (2) HO500 | (2) HO400
DOUBLE CEE | (2) H0603 | (2) HO300
H.R./B.U. (2) HOGO3 | (2) HO300

SEE BOLT CHART

4“/8"

COLUMN TO FINISHED FLOOR CLIP
CLIP MK. CEE SIZE

HCJO1 8"/91/2" ‘ A }

HCJ02 12" e \

NOTE: INSTALL CLIPS ON COLUMN
BEFORE STANDING COLUMN. SEE SECTION ABOVE
(ATTACHMENT TO SLAB BY OTHERS.)

EQ

PARTITION COLUMN TO FINISHED FLOOR

H0500 BOLT = 1/2" x 1 1/4" A307
HO603 BOLT = 1/2" x 2" A325 ( C H O O 70 )

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0070.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0080 - PARTITION WALL GIRT CONNECTION TO COLD-FORMED PARTITION COLUMN

¢ coLUMN
34" VARIES ‘

(2) 1/2" X 1 1/4" A307 FLANGE |
BOLTS H0500 / NUTS H0400
| .

BOLTED GIRT CLIP

@ | i
(a'eg ryYr——t+—// lrr————————— L****j
= | | i
-9 | ——O |
| i |
| | |
% | | |
% | L
| -
\ ‘ \
- L—O |
2] | ]
o o TN ‘f,,,,J
= | |
‘ R |
SINGLE OR DOUBLE CEE / SEE BOLT CHART
COLUMN
BOLTED GIRT CLIPS BOLT CHART
CLIP MK, COLUMN FLANGE COLUMN TYPE | BOLT NUT
SIZESHAPE | WIDTH SINGLE CEE | (2)H0500 | (2) H0400
FOC94 | 89 1/2'CEE | 25'/3" @) 2)
FOCY5 TS 363" DOUBLE CEE | (2)H0603 | (2) H0300
FOC9%6 | 8'/9172""S" | 3.78"]3.63" HR./B.U. (2) H0603 | (2) H0300

NOTE: INSTALL CLIPS ON COLUMN BEFORE
STANDING COLUMN. USE LEVEL TO ALIGN
GIRTS ADJUST CLIP AS REQUIRED.

PARTITION WALL GIRT CONNECTION TO
COLD-FORMED PARTITION COLUMN

H0500 BOLT = 1/2" x 1 1/4" A307
HO603 BOLT = 1/2" x 2" A325 ( C H O O 80 )

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0080.dwg

NUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0090 - TRANSVERSE PARTITION COLUMN TO RAFTER CONNECTION

(6) H1070 FASTENERS.

S &
&
o BOTTOM FLANGE
JCS__CLIP OF RAFTER
S
PARTITION COLUMN
(SINGLE/DOUBLE

COLD-FORMED CEE SHOWN.
HOT-ROLLED/BUILT-UP
SIMILAR).

TRANSVERSE PARTITION COLUMN TO
RAFTER CONNECTION

NOTE: USE (2) 1/2" X 2" A325 BOLTS H0603 / NUTS H0300
HAND TIGHTEN AND BURR THREADS. ( C H 0090 )

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

Detailer Notes:

Issued 1 12.20.24 (2024.010) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1 x 1
Issued By: CF


dtls/ch0090.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO0100 - PARTITION COLUMN TO TOP CEE GIRT CONNECTION

FASTENERS
(6) H1020 \CEE GIRT
,,,,,,,,, ¢+—t 1 —
= S ["ﬁhfﬂf "] =
< |1

(COLD-FORMED SHOWN.

HOT-ROLLED/BUILT-UP SIMILAR.)
ek
SEE BOLT CHART

|
|
1!
JCTO1 CLIP —// i BOLT CHART

H COLUMN TYPE | BOLT NUT

i A, SINGLE CEE | (4)H0500 | (4) H0400
DOUBLE CEE | (4) H0603 | (4) H0300
HR./B.U. (4) HOB03 | (4) HO300

PARTITION COLUMN TO TOP CEE GIRT
CONNECTION

H0500 BOLT = 1/2" x 1 1/4" A307
HO603 BOLT = 1/2" x 2" A325 ( C H O 1 OO )

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS.

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0100.dwg

NUUCOR PARTITION WALL FRAMING

BUILDINGS GROUP WALL SECONDARY

CHO110 - JOIST STRUT CONNECTION TO PARTITION COLUMN

CEEGRT ———— _
B ﬂ——;w\T; T\D JOIST
' \
| | |
| |
I | | — (4) H1070
| FASTENERS AT
i EACH JOIST
. |
|
I

WBCO3 CLIP

CEE CHANNEL

JOIST STRUT CONNECTION TO PARTITION
COLUMN

NOTE: USE (8) 1/2" X 2" A325 BOLTS H0603 / NUTS H0300
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS. ( C H O 1 1 O )

Detailer Notes:

Issued : 06.14.24 (2022.015) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1 x 1
Issued By: CF


dtls/ch0110.dwg

	Partition Wall Framing
	CH0010 - LONG. PARTITION WALL CEE GIRT TO RIGID FRAME CONNECTION
	CH0020 - LONG. PARTITION COLUMN TO RAFTER CONNECTION
	CH0030 - TRANS. PARTITION COLUMN TO  SUPPORT CHANNEL AT MID-BAY
	CH0040 - PARTITION WALL GIRT TERM. TO COLUMN (BYPASS EXT. WALL)
	CH0050 - PARTITION WALL GIRT TERM. TO COLUMN (FLUSH/INSET EXT. WALL)
	CH0060 - ALT. PARTITION WALL GIRT TERMINATION INTO COLUMN
	CH0070 - PARTITION COLUMN TO FINISHED FLOOR
	CH0080 - PARTITION WALL GIRT CONN. TO COLD-FORMED PARTITION COLUMN
	CH0090 - TRANS.VERSE PARTITION COLUMN TO RAFTER CONNECTION
	CH0100 - PARTITION COLUMN TO TOP CEE GIRT CONNECTION
	CH0110 - JOIST STRUT CONNECTION TO PARTITION COLUMN


